EARAROBREBRT —5 XN—ZXBISH—F 202338138 (B) 12018

m*j??\ figk C3 EEENEE R
[AE%] 1 &:900,000F ~ 2&:351,000H  337%&:225,000H . 43#&:135,000H  53&:99,000 H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N sl : -3~ - FEEREsh (RO18)
117110 S NIF A EY 7 T% 1.(1_7).0 2-3-3 39.1 3 ?_04?; ;E;E?
R:O—-IVJUY #:FEa—bkovay BRAEt TmINL—ZVItEVS
—_ s 4 | IR 1:17.3 6-6-5 |[38.7| — 1 516 | EMSEE (HOE)
] 4| AONZFT 54.0 (112 (1) |HOFER
REwITF—P— B:FvHUITARIL IZIFHiIS
o= =~ 4 | ARIRES 1:17.5 1-1-1 [39.9| - 6 513 | REf&EE (#618)
317|9|RY—RZTY " a530 a (6) | ) Nicks
R:R7PYYISwo B:N\rFO-X EBALLEHIS
= 4 | WOER 1:17.9 12-10-9 [38.4| — 8 49 | MEA (f618)
4\5|5|7—29— # 56.0 Q) -8) BTRR. THURN, ZZATW (
R:aN/UvF— B:FUVERZIF JIIbYA 1T 7 —LRatt
W LIl 5+ : -7~ - WARZ (#a18)
5 7| F¥AO5AI ' 56.0 1(71?:? 392 . f_75()) 1&/\73;5
R IT709— B:F+AMOXT7 EEp e
(LS D AHIESE : -5 - S (Hors)
618l 7ETVIILZ o4 Gl 1.(1%.2 5-5-6 | 39.9 2 21_742) R
RiO—IRA XA B:TFSEFZVIN—)L PRzLe ]
< . HE : -2~ - ke (i
715|6| V2w /IvX "7 0 (11'118/25) MEC 4 (5_45(; §%§_( )
R:T7RIAVL—Y B:O—LRIvIE SPRIUS
= — v 8 | ERHB 1:19.0 3-4-4 | 40.8| - 7 473 | FHEE (o)
8 g|1—TEZIR 7 %0 @ 1/2) 1) W LyIx
RX:O—LILSbA40 B:IIRIVNERZ YIRIVTF—L
W _ 4 8 | HEHE 1:19.1 11-12-12 [39.5| - 9 49 | HOZE (EM)
okl 3 | TYaFTF—L 54.0 (/2 (9 |PEEHZ
RiIZ/FLLw s B:SOUVILT 7 TAARI v Rt
== 6 | BAEH 1:19.8 9-8-8 |40.6| — 11 | 480 |ZEEEBY (HO1E)
10/ 8|12| TAZIT « e 54.0 6) W) |YIIYT - RRIAVE ()
RUTPIAVINT N B:AY R U—XOF ¢ — KRS
o T T H#REB :20. -11- . - AR A
N, PIL0ZES N w7 | Lhin - R I O E Exe
R:Nk40 B:VIWIFTITSAT FUIY NS
—= RTTHIA : -9- - SHIEX (#Ef)
i1l =y s=gyn 9 (e 1.(22(;.8 10-9-11 | 41.3 12 21_763) EHES
Rivavrvhyr #&:Fvu—H4Ovu— Nt fRER
@ 11— —BBIENI
13—7+—
20—F— 9,10,8,6,11,4,7,2,12,1,3,5
3J0—7— |[9.6,10.8,11,4,7,12,1,5,2,3
43— — 9,6,10,8,4,11,7,12,5,2,1,3
o ILRE
B B 10 850/ JA R 4-10 360M4 % 5E 4-7 480M4 3EE 4-9-10 3,300
7B B 10 180M9 9-10 1,160/ B 7-4 2,390M 3EH 10-4-9 23,0408
4 120 4-9 570 /B & 4-10 8604
9 280 =51 10-4 2,480

ABCDOVTIRHTERERRODDZ, THERAILZETL




